MIDTERM TRAINING
1. Mr. Hernandez wants to invest $10,000.  He has a choice of a risky portfolio, M, of stocks with an expected return of 15 percent and a standard deviation of 18 percent.  He can also lend and borrow at the risk-free rate of 6 percent.  Show how he can construct a portfolio with standard deviations of (a) 9 percent, (b) 27 percent, and (c) 36 percent.  Calculate the expected return for each of these portfolios. 

2. The Treasury bill rate is 5 percent and the market portfolio return is expected to be 13 percent.  

a. What is the market risk premium?

b. What is required rate of return on an investment which has a beta of 1.6?

c. If the expected return on Joy Wish Corp. stock is 17 percent, what is its beta?

d. If an investment with a beta of 1.8 were expected to give a return of 19 percent, would you accept it?

3. Your broker is urging you to invest in one of three portfolios on which the returns are expected to be as follows: portfolio A, 12 percent; portfolio B, 16 percent; portfolio C, 20 percent.  You believe these estimates, but you also have sufficient data to calculate the betas of the portfolios with confidence.  You find the betas are 0.5 for A, 1.1 for B, and 2.0 for C. Which portfolio is best and why?  (Hint: See if you can duplicate portfolio B by some combination of A and C.)  

4. Stock J has a beta of 1.2 and an expected return of 15.6 percent, and stock K has a beta of 0.8 and an expected return of 12.4 percent.  What must be (a) the expected return on the market and (b) the risk-free rate of return, to be consistent with the capital asset pricing model? 

5. Stock A has an expected return of 14 percent and a beta of 1.1.  Stock B has an expected return of 18.  The risk free rate is 5.2 percent.  Assume that stock A is correctly priced (i.e. it is on the security market line).  If stock B has a beta of 1.4, is it correctly priced?

7. The return on a proposed investment is expected to be 24 percent.  The standard deviation is estimated at 24 percent.  The risk free rate is 6 percent.  Assume the expected market risk premium to be 9 percent.  Assume that the standard deviation of market returns to be 15 

percent.  If the project correlates fairly highly with the economy, comment on the attractiveness of the project.  
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